THSEE SBEARSFERYYI—FAKRE(FE FHSEFEAMEFFARU-1TYIYH—KERF=H)

N BFBR

O: fEAKESHK

AXEREERRS B EHAENKES  C:1EEFC(A) D:&fEFC(B)
E:1&[FC(C) F:1&[FC(D) G:HBFMBRES HHRARLEHAESAMATLEZ
1 BURER J: B =R K:BBXERER L AMERKE

fBREFC: - - B Iv b R—IL 22—
2/3
13:00
A
3|1 ojo
2-0 0-0
1-1 0-0
OEX0
O0EX0
ofo of2 5PK3 ofs
0-0 0-1 0-2
0-0 0-1 0-3
0EX0
0EX0
3PK1
1]o 4|1 4fo0 1]2 of1 o|s 1] 2 of4
0-0 3-0 2-0 0-2 0-1 0-2 0-0 0-1
0-0 1-1 2-0 1-0 0-0 0-3 1-1 0-3
1EX0 OEX1
OEX0 OEX0
0 of2 117 ofo 3fo 500 2 3fo ofs
1-0 0-0 0-4 0-0 1-0 1-0 0-1 1-0 0-1
1-0 0-2 1-3 0-0 2-0 4-0 0-1 2-0 0-4
0EX0
0EX0
5PK3
of4 0 of1 1] 2 1o 1o ofo of2
0-2 0-0 0-1 0-0 1-0 0-0 0-2
0-2 0-1 1-1 1-0 0-0 0-0 0-0
0EX0
0EX0
5PK3
3 4 5 8 9 1 13 14 16 18 20 21 2 23 28 30 31 32 33 35 3 37 38 39
®oWmON W AN = " [CEN = N F R A & b bl = #f s & &£ £ ®H B N B 2
i E
% B X X 2 5 E if] X 2 M| E)
X % = E %
2 I X ¥ X @A = I % %
= * H ¥ B B B =3 3] X ¥ = B B A 4 ¥ B 2 @& OH B % ¥ - S|




